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Please use reactor of L=13% about third harmonic system,
When use a reactor, the terminal voltage of condenser
increases by 106%(L=13% 115%).

therefore considers the voltage of condenser When select,

® Specifications

«Rating :3@ 3.3, 6.6kV , 60Hz(Option: 50Hz)

- Dielectric withstand : 3.3kV / 10kV, 6.6kV / 16kV / Tmin
- Impulse : 3.3kV / 30kV, 6.6kV / 45kV

« Insulation resistance : 500MQ  Over DC 500V Megger
«IP Class : IP20

« Capacity error : Rating capacity of -5 ~ +10%

- Operating temp., : -20c ~ +40C
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WYSR66-1.8 30 1.8 2.6 340 286 373 260 188 13 M8 85
WYSR66-2.4 40 2.4 3.5 340 295 373 260 198 13 M8 95
WYSR66-3.0 50 3.0 4.4 340 295 373 260 198 13 M8 100
WYSR66—-3.6 60 3.6 5.2 340 295 373 260 198 13 M8 125
WYSR66—-4.5 75 4.5 6.6 380 300 410 280 230 12 M8 135
WYSR66—6.0 100 6.0 8.7 380 310 410 280 240 12 M10 140
WYSR66-9.0 150 9.0 13.1 380 310 410 280 240 12 M10 150
WYSR66-12 200 12 17.5 400 310 420 300 240 12 M10 156
WYSR66-15 250 15 21.9 430 310 420 340 240 12 M10 186
WYSR66-18 300 18 26.4 450 320 450 360 250 12 M10 230
WYSR66—-24 400 24 35 450 320 470 360 270 12 M10 265
WYSR66-30 500 30 43.8 520 350 510 380 280 12 M10 290
WYSR66—36 600 36 525 550 300 510 400 280 12 M10 310
WYSR66—-42 700 42 61,2 600 300 530 400 300 14 M12 340
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% Please contact us because the size of the exterior may vary when ordering 50Hz,

® Dimension
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